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elr SAENER (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL TH24 10 2,957,936 19,649,147 16,691,211
= 818,000
== 705,200
Al 1,434,736
SEHC TAIDHE 1,331,536 14,628,547 213,297,011
= 818,000
< 105,200
Al 408,336
CAEEER 172,636 13,451,447 13,278,811
AT S 2 tA 62,116 64,727 A2,611
201 er23 | 62,116 64,727 22,611
01 At2teltl 52,116 54,727 A2,611
O &=l =& 250,000 x8 2«83 16,000
O FUSFHEZ D= 5,000,000& 5,000
O SAMMSZICIUOIH 2& =2
390,500 62| 122 28,116
O GzASIAIY L)
3,000,000& 3,000
03 A= I 10,000 10,000 0
O TATHA e #A Y DS X
10,000,000 10,000
CAIMHAEXZHEH =2 80,520 16,920 63,600
201 et 3| 5,000 3,000 2,000
01 At2t2l] 5,000 3,000 2,000
O ZAIWMXHE Et=ZH|
5,000,000 5,000
202 04l 14,400 12,000 2,400
01 =LHA LI 14,400 12,000 2,400
O ZANEXAMME HRFH0H|
200,000 «6H = 12& 14,400
301 EtE NS 1,920 1,920
11 #AIAHIXIE S 1,920 1,920
O ZAIMMICIUION, &S0t FHEd
249 X2 8,000 x20E *13|* 122 1,920
401 Al HIZL 201 50,000 0 50,000
01 Al&H| 50,000 0 50,000
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50,000,000& 50,000
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=S 105,200
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201 er2 3| 10,000 2,000 8,000
01 Al 22| 10,000 2,000 8,000
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10,000,000& 10,000
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= 600,000
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< 200,000
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01 Al&H| 400,000 390,000 10,000
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